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Resta (horizontal)

Nombre;

Resuelve cada problema.

1) 983 - 3

2) 23 -7 =

3 79 - 26

4 242 - 1

5 6,927 - 431 =

6) 4,175 - 3,893 =

7) 9,858 - 13 =

8 128 - 99 =

9 8,554 - 3 =

10) 601 - 483 =

11) 92 - 62 =

12) 6,936 - 2 =

Respuestas

10.

11

12.

1-10
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ﬂh Resta (horizontal) Nombre: Clave De Respuestas

Resuelve cada problema. Respuestas
1, 980
1) 983 - 3 = 980
2 16
2 23 - 7= 16 3 53
4. 241
3 79 - 26 = 53
5, 6,496
49 242 - 1 = 241 6. 282
7. 9,845
5 6,927 - 431 = 6,496 o 29
9. 8,551
6) 4,175 - 3,893 = 282
10, 118
7) 9,858 - 13 = 9,845 11. 30
12 6,934
8 128 - 99 = 29
9 8,554 - 3 = 8,551
10) 601 - 483 = 118
11) 92 - 62 = 30
12) 6,936 - 2 = 6,934
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Resta (horizontal)

Nombre;

Resuelve cada problema.

Respuestas

16 53 6,496
241 282 29

980
8,551

9,845
118 1

1) 983 - 3

2) 23 - 7 =

3 79 - 26

4 242 - 1

5 6,927 - 431 =

6) 4,175 - 3,893 =

7) 9,858 - 13 =

8 128 - 99

9 8,554 - 3 =

10) 601 - 483 =

10.

" Modificado
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